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3E1201
B.Tech. ITI-Sem. (Main & Back) Examination, January/February - 2024
Artifical Intelligence & Data Science

3E1201

3AID2-01 Advanced Engineering Mathematics
AID, CAl, CS, IT, CCS, CDS, CIT, CSD, CSR

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

Attempt all Ten questions from Part-A, Five questions out of seven questions
Jrom Part-B and Three questions out of Five questions Jrom Part-C.

Schematic diagrams must be shown wherever necessary. Any data you feel missing

suitably be assumed and stated clearly. Units of quantities used/Calculated must
be stated clearly.

Use of following supporting material is permitted during examination. (Mentioned
in form No.205)
PART - A
(Answer should be given up to 25 words only)
All questions are compulsory. (10x2=20)
1. Whatis the difference between linear and non linear programming problem.
2. What s optimization Technique? Give example.

3. What is mean, variance and standard Deviation of Uniform Distribution and
Exponential Distribution.

4. Fitastraight line of following set of observation
x | v ] 2 | 3 | 4 ] 5
y | 2 | 4 | 6 | 8 | 10
S. What is spearman rank correlation?
6. Write the dual of

Max z=x +3x,
St Ax+2x,<6
3, +x, =4

X% 20.
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Find the maxima and minima of X +x +9x7 +18x2 +144
Find all the basic solution of the system.

2x+y—z=2
Ix+2y+z=3

What is difference between skewness and kurtosis.

Find the optimal assignment for the problem with minimum cost.

I II I 1A%
A 5 3 1 8
B 7 5 2 6
C 6 4 5 7
D 5 7 7 6
PART - B
(Analytical/Problem solving questions)
Attempt any Five questions. (5%4 =20)

Define Poisson Distribution. Derive it a limiting case of Binomial distribution Find
the mean and Variance also.

The joint probability mass function of (X, Y) is given by
Axly, i=1,2;j=1273

Pyy (xi’ yj) N { 0 otherwise

) Find 2

i) Find the marginaj probability mass function of x and y.

Old hens can be bought at Rs 2.00 with young.Ones at Rs 5.00 each. An old hen
lays 3 eggs a young one 5 eggs a week.Each egg is sold for 30P. if the expenses
incurred on their feeding be Rs 1.00 per hen per week, find how many hens of each
kind a person having Rs.80 for investment can purchase to earn maximum profit , if
he has accomodation only for 20 hens in his house.

Optimize Z = P4y*z?
Subject to dx+y*+2z=14

3E1201 2)
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Use simplex method to solve the LP problem
Maximize Z =4x +3x,
Subject to 2xtx, <10

3x,+2x, < 16

X, =0

Obtain the optimal transportation plan from the following table.

Market

Plan M, M, M, M, Supply
P, 4 6 8 13 50

P, 13 11 10 8 70

P, 14 4 10 13 30

P, 9 11 13 8 50
Demand 25 35 105 20

Calculate the coefficient of correlation and obtain lines of regression for the following
data.

x |1 2 3 4 5 6 7 8 9
y |9 8 10 12 11 13 14 16 15
PART - C

(Descriptive/Analytical/Problem Solving/Design questions)
Attempt any Three questions. (3x10=30)

If @ be the acute angle between the two line of regression of variables x and y, show

thattang =1 =" (:my 7 Where r, ox 0y have their usual meaning. Explain the
r  ox'+oy

significance wherer=0and r=+ 1

A random variable x has the following probability distribution:

x 0 1 2 3 4 5 6 7
Pix) | 0 k 2k 2k 3k % 2> Tk +k
i) FindK. 3

i) Evaluate P(x <6), P(x>6)and P(0<x<5)

3E1201 3) [Contd....




i) Find distribution function of x.

1.5<x<4.5]

iv) Find P[ pry

3. Solve the following problem.

Minimize fx) = x+xi+x
Subject to gx). = 2x4x-550
g,(x) = x+x-2<0
g,(x) = 1-x <0
g,(x) = 2-x,50
gs(x) =  -x,%0

4. What arc the engineering Application of optimization also give various classification
of optimization problems.
5. 'Use Two phase simplex method to solve the following LPP
Max z= Sx 4 8x,
S.t 3x+2x, >3
x, t4x, >4
x, X, <5

X% 20
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3E1200
B.Tech. III-Sem. (Main & Back) Examination, January/February- 2024

Agricultural Engineering

3E1200

3AG 1-03 Managerial Economics and Financial Accounting

All Branches

Time : 3 Hours Maximum Marks : 70

Instructions to Candidates:

Attermapt all ten questions from Part A, five questions out of seven questions
from Part B and three questions out of five questions from Part C. '

Schematic diagrams must be shown wherever necessary. Any data you feel

missing suitably be assumed and stated clearly. Units of quantities used/
Calculated must be stated clearly.

Use of following supporting material is permitted during examination.
(Mentioned in form No.205)

PART - A
(Answer should be given up to 25 words only)

All questions are compulsory (10%x2=20)
1. Explain Gross Domestic Product (GDP).
2. Draw circular flow of economic‘ activities
3. Draw graph to show
a)  Perfectly Inelastic Demand
b) -Perfectly elastic demand 7 1+ 1=2)
What is Giffen Paradox? :
Give mathematical form of Cobb - Douglas production function.
Define Explicit and implicit costs with example. (1 +1=2)

Draw a chart to show different market structures.

® N o ;oA

List four important features of Monopoly market. (0.5 x4=2)

3E1200/2024 1) [Contd....
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What, is golden rule of accounting for real accounts? (1+1=2)
Define payback period.
PART - B
(Analytical/Problems solving questions)

Attempt any Five questions (5%4 =20)
Define National Income. Explain steps involved in the estimation of national income
by income method. . (1+3=4)
Explain economies and diseconomies of scale with examples. (2+2=4)

How will you calculate cash flows from operating activities by direct and indirect
method. Explain with example. (2+2=4)

a) Why is the demand curve of a firm under monopolistic competition more
elastic than under monopoly? Explain.

b) Explain ‘freedom of entry and exit to firms in industry” feature of monopolistic
competition. (2+2=4)

Explain following with help of suitable graph. (1x4=4)
a) Zeroincome elasticity

b) Negative Income elasticity

¢) Unitincom elasticity

d) Income elasticity greater than unity

Give brief answer of following Questions on Balance Sheet: (1x4=4)

a) On balance sheet, accruals, notes payable, and account payable are listed
under which category?

b) Inventories, cash and equivalents, and accounts receivables are listed as?

¢) A firm buys products but does not pay to suppliers instantly. This is recorded
as?

d) Inabalance sheet, the total of common stock and retained earnings are denoted
as?

Explain following ratios: (Formula is must) (2+2=4)
a) Liquidity Ratio
b) Solvency Ratio

IE1200 1))
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PART - C
(Descriptive/Analytical/Problems Solving/Design question)
Attempt any Three questions (3x10=30)
1 a) Completethe followingtable: (0.25%30=7.5)
QTY TFC TVC TC AVC ATC MC
(UNITS) | (Rs.) (Rs.) (Rs.) (Rs.) (Rs.) (Rs.)
0 ) N SIS S T e e
L z:i (RN R e . = e e
N L e T 00. | e ] e F e
- J R ST L T T e e 5
& | b e T e | peea s O} aoe o T T
< DS PR . e 1500 " e VG

b) Draw graph/graphs showing relationship between any five Costs with Quantity
(Units).

You can show them in single graph or in separate five graphs. (0.5%5=2.5)
2. Calculate and also comment on degree of elasticity: (4%2.5=10)

a) The price of tea per cup is decreased from Rs. 4 to Rs.3 and the demand of
coffee is increased from 2 cups per day to 4 cups per day. Calculate Cross
Elasticity of Demand.

b) Mr. Gupta’s income is raised from Rs. 10,000 to Rs. 15,000 and the demand
for good A is raised from 500 to 800 units. Calculate Income Elasticity of
Demand.

¢) The demand of comrhodity X is raised from 200 to 250 units when price
decreased from Rs. 8 to Rs. 6. Calculate Price Elasticity of Demand.

d) If the price rises of good A rises from Rs. 20 to Rs. 30. Its supply increases
from 200 to 800 units. Calculate Elasticity of Supply.

3.  “Economics is an art.” Elaborate this statement by explaining meaning, nature and
scope of Economics. (2+4+4=10)
4. “A competitive firm is not a price maker, but adjustor.” Explain this statement with
reference to price determination in long and short term under perfect competition.
(4+6=10)
3E1200
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5. From the following balance sheet of Brown and co. Ltd. as on 31 Dec. 2020 and

31*Dec.2021:
Liabilities 2020 2021 | Asset 2020 2021
(Rs.) (Rs) (Rs.) (Rs.)
Share capital 5,00,000 | 7,00,000 | Land & Building 80,000 1,20,000
Profit & loss a/c| 1,00,000 | 1,60,000 | Plant & Machinery | 5,00,000 8,00,000
General Reserve 50,000 70,000 | Stock 1,00,000 75,000
Sundry creditors | 1,53,000 1,90,000 | Sundry Debtors 1,50,000 1,60,000
Bills payable 40,000 50,000 | Cash at Bank 20,000 20,000
Expenses O/S 7,000 5,000
TOTAL $,50,000 [11,75,000 | TOTAL 8,50,000 |11,75,000

Additional Information:

a) Rs. 50,000 depreciation has been charged on Plant and Machinery during

2021.

b) A piece of Machinery was sold for Rs. 8,000 during the year 2021. It had cost
Rs. 12,000; depreciation of Rs. 7,000 had been provided on it.

Prepare a Schedule of changes in Working Capital and a Statement showing
the Sources and Application of Funds for 2021.

working

3E1200

notes.)

4)

(3+3+2+2=10)
(Show Adjusted Profit & Loss Account and Plant & Machinery Account in
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3E12350
s
n tB.Tech. III-Sem. (Main & Back) Examination, January/February - 2024
E Agricultural Engineering
e 3AG1-02/Technical Communication
All Branches
Time : 3 Hours Maximum Marks : 70

Instructions to Candidates:

Attempt all Ten questions from Part A, Five questions out of Seven questions
from Part B and Three questions out of Five questions from Part C.

Schematic diagrams must be shown wherever necessary. Any data you feel missing

suitably be assumed and stated clearly. Units of quantities used/ Calculated must
be stated clearly.

Use of following supporting material is permitted during examination. (Mentioned
in form No. 205)

PART - A

(Answer should be given up to 25 words only)
All questions are compulsory. (10x2=20)
What are various aspects of technical communication?
Write two importance of techinical communication.
Define style in technical communication.
What are various steps to read a iechnical text?
List the benefits of note - making.

Name different technical texts.

I

Correct the following sentences.
i)  Both the sister were seen at the party.
i)  She is one of the best student in our class.

8. Form two words by using the each prefix - in and - un.

3E1250/2024 (1) [Contd....
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Underline and rewrite the noun phrase in the following sentences.
i)  The cat with the stripes tried to trip me.
i) My green gym socks are in the hamper.
Write a short note on Linguistic Ability.

PART - B

(Analytical/Problem solving questions)

Attempt any Five questions. (5%x4=20)
Explain ERRQ and SQ3R Reading Technique.

Reading makes a man complete francis Bacon. How can you develop effective
reading skills?

What is the process of reading a technical manual?
Elaborate various ways to collect information.
Enlist various factors which affect desi gning of a document.
What are various types of technical articles? Explain.
Enumerate the different characteristics of technical project proposal.
PART - C

(Descriptive/Analytical/Problem Solving/Design question)
Attempt any Three questions. (3x10=30)
Explain varieus types of note-making.
Describe various features of style in technical communication.

Assume yourself as the cultural secretary, you are organizing an instrument playing
programme in your Institute/College/ University. Draft an e-mail informing all the
teachers, students and staff members of your College about the event and invite
them to attend the event. Invent the necessary details.

Assuming yourself a hostler, write minutes of the meetin g, which you have attended
with the hostel wardern and chief warden to improve the quality of food served in
the hostel mess.

Prepare a report on the Campus placement Drive organized in your College on
12* Jan. 2023,

JE1250 (2)




Total No. of Questions: Total No.of Pages:

Roll No.

B.Tech. III-Sem (Back) Exam 2024
HSMCAeronautical Engineering
3AN1-02Technical Communication
3E1102
All branches

Time: 2 Hours Maximum Marks: 80
Min. Passing Marks: 28

Attempt all five questions from Part A, four questions out of six questions from Part B
and two questions out of three from Part C.

Schematic diagrams must be shown wherever necessary. Any data you feel missing suitably

be assumed and stated clearly. Units of quantities used/ calculated must be stated clearly.

Use of following supporting material is permitted during examination. (Mentioned in
form No.205)
1 2,
Part A(Answer sheuld be given up to 25 words only)
All questions are compulsory

Q. I what is the meaning of Technical communication?
Q.2Write Down the Various Communication Skills?
Q.3What is the importance of Conference?

Q.4why do we take notes from a long passage? What is its utility?

Q.5Rewrite the name of the following book as you would put it in a bibliographical reference:
1979. 3rd edition. Macmillian. The Elements of Style written by W. Strunk and E. B. White.
5x2=10

Part BAnalytical/Problem solving questions
Attempt any four questions

Q.1Write an oral presentation for a debate on “Modern Technology is doing more harm than
good to man”. You are to speak for one minute in favour of the topic.
Q.2How is technical paper written?

Q.3What do you understand by the term technical communication? How is it different from
general purpose communication?

38
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Q.4.What is group discussion? Discuss the importance of group discussion and
how it is helpful in interviews?

Q.5should email replace the communication forms such as memog and letters? Explain your
answer?

Q.6What is Report? Discuss various sections of a formal report in detail.
4x10=40

Part C(DescriptivelAnalytical/Problem Solving/Design Question)
Attempt any two questions

Q. 1As the purchase officer of a company, write a complaint letter to comfort Home
Appliances, New Delhi, pointing out the damage which was discovered after checking the
consignment containing Refrigerators sent to you by supplier

(a) Memos and reports.

(b) Press release and newsletters
(c) Dissertation and thesis

(d) References and bibliography

Q.3Write an cssay on one of the following:-
a) India in 20-20
b) Role of youth society.

2x15=30
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Total No. of Questions: Total No.of Pages:

Roll No.

B.Tech.ITf Sem (Back) Exam 2024
HSMCAeronautical Engineering
3AN1-03Managerial Economics & Financial Accounting
3JE1103

All branches
Time: 2 Hours Maximum Marks: 80
Min. Passing Marks: 28

Attempt all five questions from Part A, four questions out of six questions from
Part B and two questions out of three from Part C.

Schematic diagrams must be shown wherever necessary. Any data vou feel missing
suitably be assumed and stated clearly . Units of quantities used/ caleulated must be
stated clearly.

Use of fullowing supporting material is permitted during examination.
(Mentioned in form No.203)
I 2

Part A(Answer should be given up to 25 words only)
All questions are compulsory

Q. 1 Define Managerial Liconomics?

Q.2 What is Normative Theory of Economics?
Q.3What are the features ol Oligopoly?
Q.4 Define Time Value of Money?

Q.5 Mention the concept of Demand?
Sx2=10

Part BAnalytical/Probhlem solving questions
Attempt any four questions
Q.1Describe fully the concept of price elasticity of demand?
Q-2State the relationship of managerial cconomics with Other Subjects?
Q.3 What is Perfect Competition State its [eatures?
QA Explain the Dilferem Features of Business Cyele?

Q.5 Explain Capital Budecting?
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Q.6Calculate the BEP in units and rupees using the following details: * Selling price

per unit Rs. 100 « Variable

cnstperunitRs,60°FixedcostsRs.20,000-ActualsalesRs.2,00,000
" 4 x 10 =40

Part C(Descriptive/Analytical/Problem Solving/Design Question)
Attempt any two questions

Q. 1 Explain the concept of Managerial Economics? List out the applications and importance
of Managerial Economics?

Q.2How is price and output determination under monopoly different from that under
perfect competition?

Q.3. A Company prepares a budget to produce 3, 00,000 Units, with fixed costs as Rs.
15, 00,000 and average variable cost of Rs.10 per unit. The selling price is to Yield
20%profit on Cost. You are required to calculate
(a) BEP in Rupees
(b) P/V Ratio
(c) Margin of Safety

2x15=30
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3. Explain the following terms:

i)  Naise Margin (2)
i) Propagation Delay . ‘ 2)
i) Fan-In @
iv) Fan-out 2)
v) Power Dissipiation | (2)

4. Design a 4-bit binary to gray code converter and realize it using logic gates. (10)
5. Explain the working of 4-bit serial in parallel -out shift register along with the waveform.

(10)

3E1203 3)

3%



“BuImolrog oy jo san Suuueds
1509 wnwiuiw ay) puyy o3 unpode s, [BYSIN 9 1 221 Suruueds sy auyyag

(0£=01x¢€) "suonsanb FAYH] Aue jdwoyy
(suopsanb udisag/Buiajog wajqoad/eandeuy/eandussaq)
J - 1yvd

ISH P3AUH (02110 J0 saejueApesip
pue aFeIuBApe 3y} LM OS]y Is1] POYUI] Je[no.Id pue 3sT] paxur] a8uis aenuasapyic]

Hx (9x (4 v 3/Q) - Dxg)+v

‘uorssaudxa xiyisod Jusjeainba SIt ur uorssardxa Jurmoy|og ayp waauon

onand) Auoud
Jo suonedridde ue ayup 4, pajuawldwr aq 31 UBd mop ¢anand) Auou st jeym

*201) ATeuiq 2y} mea(g
HY 99 494999 v 9D ) :13p10-21g
4 'H 'd 9 94 O v 9 9 SN o9 D :I9pI0-u]
Mojaq

U2AIS a1 0213 Areuiq e up sapous jo aouanbes [Bs13AR 19p10-21d pue 1ap1o-u ay |
SI pAUIL FeInaId up uoneao] d15192ds 18 3pou e uasur o) wipIo3[e ue LM

'S31AQ ST B[S Yora Jo 9718 3Y) pue (|

UONBIO] 38 P2103s S13] ‘Sjuawajajo [y ¢ 0151~y Aeire ue 105 15p10 Jofew

uwinjod pue 1apio Jofew mor Suisn [gz's 11V juawaja 2y jo ssaippe ay enofe)

B 10J UNpLIOS[R 3)LIm PUR [1819p UJ Wajqoid IOUBH JO 19Mm0] urejdxg

(0T=txs) 'suonsanb gA1q Lue ydwayy
(suopsanb Bujajos wajqolg/jeandjeuy)

- Ldvd

0714¢

h$g

““piuo))] M

PTOT/TOTIAE

"Yydei3 puv son aredwoy g

2441 wep 1ornsqe Aq jueow si TBUM

291, Suruureds wnwiuiw jo 1daou0o ay stieyp

"uoneao|[e Alowaw onweuA(] pue anejs U20MI3q 2JBNUIYI(]

2211 Areurg 9)91dwion auyagy

'$3983s jo suoneondde ajrip

¢SaAAY sH a1 ey M (si] padyui] st tey Ay

 [eINI1DNS BIEp IESUI[-UoU plk Hu:: 2B Ry M

¢suoneloN onowdwAs vy urejdxyg

{RINI2NS Ble(] S1 Ry M

(0z=zx01) ‘Kaosinduio) aue suonsanb 1y
(Ajuo spaos §7 03 dn uaaig aq pInoys ramsuy)

V=davd (507N wiiog uy

pauonuapy) "uoeurexa Suunp payuuad St [eHajew Suiuoddns Suimoyjoj jo asM]

‘Al1e3[0 pajels

2Q 1snuW pajeInoje)/pasn saunuenb jo syup A1423]2 pajess pue pawnsse aq Alqenns
8uissiw 193] noA eiep Kuy “Kiessaoou 12A213ym UmOys oq jsnuwr swesdeip onewaypg

‘D 1rd wody suonsanb aaly jo no suoipsanb asay ) pue g HeJ woyy
suonsanb uaaag jo yno suonsanb AL 'V MEg wouy suonsanb uay [ju wdwapy

6
‘8
L
9

v

e T

SSAPMPUDY) 0F SUOYIONLSIU]

0L : MBI wnwixepy

SINOK € :aw

4SO ‘ASO'LID'SAD ‘$IDLI'SD ‘IVD ‘dlv
swyLog]y pue saanpnug eleq so-rarve
UG BYE( 2 2DUIBI[PIU] [RDYILIY
P20z - Areniqag/Aienue ‘voneunuexy (pegpurery) ‘wog I IRUEETR |

[zrac]

: 53¢ Jo ‘o) [e301] ‘ON 110

0zT1d€




5.

What is an AVL Tree? Explain the concept of Balancing factor. Create an AVL tree
using following sequence. 21,26,30,9,4,14,28,18,15,10,2,3,7

What i~ hashing and collision ? Discuss the advantages and disadvantages of hashing
over other searching techniques.

Write an algori-hm of Insertion sort. Sort the following elements using Insertion
sort: 68,17,26,54,77,93,31,44,55,20

Write down the algorithm for following operations of doubly linked list :-
a) Insertion cf a node in the middle location.

b) Delete a node from last location.

3E1202 3)
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5. Compute the function point productivizy, documentation, cost per function for the

following data:'

Measurement Parameter Count Weighing Factor
)  No.of External Input (EI) 24 4

ii) No. of External output(EO) 46 4

iii) No.of External Inquiries (EQ) 8 6

iv) No. of Internal files (ILF) 4 10

v) No. of External Interfaces (EIF) 2 5

vi) Effort-36.9 PM

vii) Technical documents -265 pagzs

viii) User documents - 122 pages
ix) Cost=23§ 7744/month

Various processing factorsare: 4, 1.0.3,3.5,4,4,3.3,2,2, 4, 5.
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